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INSTRUCTIONS AND INFORMATION
1. This question paper consists of FOUR questions. Answer ALL the questions,

2. Use the ANNEXURES in the addendum to answer the following questions.
ANNEXURE A for QUESTION 1.3
ANNEXURE B for QUESTION 4.1.1 and 4.1.2
ANNEXURE C for QUESTION 4.1.3 and 4.1.4

3. Use ANSWER SHEET provided to answer question 1.1.5.

4. Number the answers correctly according to the numbering system used in this question
papet.

5. Start EACH question on a NEW page.

6. An approved calculator (non-programmable and non-graphical) may be used, unless
stated otherwise. ‘

7. ALL the calculations must be clearly shown.

8. Round off ALL final answers appropriately according to the given context unless stated
otherwise.

9. Units of measurement must be indicated where applicable.

10.  Maps and diagrams are NOT necessarily drawn to scale, unless stated otherwise.

11.  Write neatly and legibly.
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QUESTION 1

1.1 The following graph shows average road deaths by province and gender group.
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Source: www.zepmeta.co.za

Use the graph above to answer the following questions.

1.1.1 If KZN had a population of 13 500 000 people in 2015, according to this graph
how many females died through car accidents. 3)

1.1.2  Calculate the range of female deaths in all provinces. Show your calculations.  (2)

1.1.3  The range of male deaths is 26.3. Does the range of male and female tell us
anything about the risk of being a female or male driver? 3)

1.1.4  Identify and explain TWO trends displayed by this bar graph. (4)

1.1.5 Arrive Alive wishes to prioritize its road safety campaign for third quarter of
the year to the 2", 3" and the 4™ provinces with highest road deaths after
Limpopo Province. Use the Answer Sheet to draw a stacked compound bar
graph showing deaths in these three Provinces . (5)
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1.2 | It was recommended that towns and cities must maximize the number of traffic lights
to control the flow of traffic and speed of cars. Peter represented the colours of traffic
lights he crosses every day.

Traffic Light 1 Traffic Light 2 Probability

(1.2,2)
Amber _

Green

Red

Amber < Amber

Green

Red
Green < Amber

Green

1.2.1 How many possible outcomes are there in this tree diagram?
1.2.2  Complete the value of 1.2.2 in the tree diagram.

1.2.3  What is the probability of the 1* light being green and the next being amber .
Express your answer in a percentage form. Show.your workings

@)
)

)

1.3 | In2011,the United Nations published a survey results about life expectancy in all continents.

continents and answer the questions that follow.

Study the Box and Whisker plot (in ANNEXURE A) which shows life expectancy in 3

1.3.1 In Europe, 15 countries were surveyed. If the Q2 (quartile 2) of life expectancy

years for Huropean countries was 81, determine the number
of European countries whose life expectancy is above 81 years,

1.3.2 Isit true that Asia has a relatively longer life expectancy compared to the other

two continents? Justify your answer.

©)

()
[30]
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QUESTION 2

2.1 ["A Mathematical Literacy educator, Peter is concerned about his finances. He collected
The new banking tariffs for his bank, Standard Bank.

Elite Banking 2017 2016
Monthly cheque card fee R8.25 0

Cash withdrawal - Standard R1.80 per R100 R4 + 1.2% of value
Bank ATM

Cash withdrawal - POS R1.80 R5

Cash withdrawal — Other ATM R6.70 + R1.80 per R100 R6.70 + R4 + 1.2% of value
22 more rows

Standard Bank 2017 fees dissected...

https://www.moneyweb.coza,industry

NOTE: POS stands for Point of Sale for example retail shops like Shoprite, Game, Edgars.

Use the banking tariffs to answer the following questions

2.1.1 By what percentage was the bank fee of withdrawing cash at Point of Sale (POS)

reduced from 2016 to 2017. )
2.1.2  Suggest a possible reason why Standard Bank decided to reduce its banking

fees. )
2.1.3  Verify whether it is true that Peter is now (in 2017) paying less bank charges

when withdrawing cash of R1000 from another ATM. (5)
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Peter is using metered electricity at his home. He also studied the following tariff
structure for Eskom Homepower users to understand his electricity costs.

Energy Charge

Environmental Levy charge

(Cents per kWh) (Rand per day)
Block 1 % 600 kWh 113.89 4.88
Block 2 >600 kWh 179.81 4.88

NB: All charges include VAT of 14%

Source: www. Eskom .co.za/tariffs

2.2.1

was the charge for this electricity.

2.2.2

223

In January 2016, Peter used 349.45kWh of electricity. Calculate how much

Calculate the VAT paid for electricity calculated in 2.2.1.

Peter was charged R1 052.19 for December 2016 electricity usage. The meter

reading was 167 571 (at the beginning of the month) and 168 292 (at the end
of the month). Show by calculations that the amount charged by Eskom was

correct.

2.2.4
consumption increases.

Peter sells ice cream in schools and taxi ranks. He received an order to supply chocolate

Provide a possible reason why Eskom increases charge per kWh as

and ice cream during Sunday School's Christmas party .

2.3.1

Determine the circumference of cach hole in the tray if it should be three fifth
The radius of the opening of the cone is 30mm.

of the opening of the cone.

Home made cone tray

You may use this formula:
Circumference = n d
Use 3.142 for n

Copyright Reserved

Top View of the tray

€)

@)

®)

@)

Ice cream cones are carried in home-made cone trays as shown in the picture below.

3
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ANNEXURE A
QUESTION 1.3
BOX AND WHISKER PLOTS REPRESENTING LIFE EXPECTANCY IN YEARS OF PEOPLE IN COUNTRIES IN THREE

DIFFERENT CONTINENTS

“ I“ EUROPE

‘ _ “ ASIA

—II AFRICA

i i i 1 5 2 1 X 1 i I i i [} | | ] H £ i i1

fF o+ vttt o+ ot +v b b1t
46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80 82 80 82 g4
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ANNEXURE B

QUESTION 4.1 1 an

3
NSC — Addendum

d4.1.2

HOLIDAY DESTINATIONS IN SOUTHERN AFRICA

June 2017 Common Test
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ANNEXURE C

QUESTION 4.1.3 AND 4.14

ZIMBABWE TRAINS (TIME SCHEDULE)

4
NSC — Addendum
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Bulawayo To Victoria Falls

Victoria Falls to Bulawayo

472 km , Runs every day

472, runs every day

Bulawayo to Harare

Bulawayo Depart 19:30 Victoria Falls | Depart 19:00
Dete Arrive/depart | 08:00 Hwange Arrive/depart | 22:22
Hwange Arrive/depart | 03:04 Ete , Arrive/depart | 00:50
Victoria Falls | Arrive 09:00 Bulawayo | Arrive 07:00

Harare to Bulawayo

486 km’, runs Mon., Thurs., Sat.

486 km , runs Mon., Thurs., Sat.

class sleeper is $8 (£5) without bedding.

Bulawayo Depart 20:00 Harare Depart 21:00
Harare Arrive 08:00 Bulawayo Arrive 08:.00
Fares

Fares are very cheap, even judged at the very poor official exchange rate. The one-way 1%
class sleeper fare from Bulawayo to Victoria Falls is 512 (£17.50), bedding now $4 extra. A 2"

Source:www.google.co.za
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232 Kids were given ice cream in cups instead of cones.

Figure 1: Ice cream cones Figure 2: Cups presented to all kids

. Level of icel

v of the
. cream

of

The quantity of ice cream in the cone can fill up to 0.55 of the height of
the cup.

The dimensions of the cup are as follows:
Height of the cup is 9.2cm
Diameter of the cup is 7em
Hence, calculate the volume of the ice cream in the cup
You may use this formula:

Volume of the cylinder =z r 2 h, where h is height and 7 is 3.142 3)

2.3.3 I 1 litre = 1000 cm?, determine the number of 5 litre ice cream that
is required for 1500 Sunday School children. (%)

[32]
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QUESTION 3

3.1

Most communities rely on water tanks supplied by district municipalities. However
these tanks are stolen. A new and unique water tank design has been introduced to
some municipalities.

Cylindrical water tank New Unique Water tank

o i

> Base

source: www,google.co.za

Use the above information to answer the following questions.

3.1.1

3.13

The new tank must be placed on a concrete slab.
Calculate area of the concrete slab.

You may use this formula.

Area of rectangle = length x width = (2)

The new and unique water tank is made of 2 triangular prisms and one
rectangular prism. The slanting height of the tank labelled (s) is 1.74m. Hence,
use this height to determine the perpendicular height (h) of this tank.

You rhay use this formula.

st =h*+ (Base)2 | 3)
The rectangular part of this tank has a volume of 9.45m°. Calculate the volume

of the 2 triangular prisms to show that the capacity of this tank is double the

capacity of 5 000 litre cylindrical tank.

You may use this formula.

V. of triangular prism = % base x height of the triangle x height of the
cylinder

NOTE: 1000 litres = lm’ | (5)
The municipal water truck fills up the cylindrical tank at 4.5 litres per second.

Determine how long (in minutes) will the municipal watet truck take to fill up
the new tank. 3)
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3.2 Peter made a profit of R450 000 for supplying the municipality with 30 water tanks.

3.2.1

322

Copyright Reserved

One of the councillors from opposition parties complained that Peter tripled the
original price of each tank. Verify by calculations, the validity of the complain
if each tank costs R6 900. (5)

Peter decided to invest R250 000 in a bank that offered him an interest of

11.5% pa, compounding biannually (twice a year). Calculate the total

amount he will have after a year. 3)
[21]
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QUESTION 4

4.1 | Peter and his family used his Toyota Quantum to tour Zimbabwe for 10 days. In Zimbabwe,

they parked their car and used trains to visit places of interest like Victoria Falls.

Use the map and the Train schedule in ANNEXURE B and ANNEXURE C to
answer the following questions.

4.1.1 What is the general direction of Durban from Bulawayo? (2)

4,12 Find the straight line distance,(following the train route), from Durban to
Tohannesburg, then Beitbridge, Francistown and Bulawayo. Use the scale
of the map in Annexure B to determine the total distance (in km) travelled
from Durban to Bulawayo. Show your workings. 3)

4.13 One day they took a train to visit Victoria Falls from their hotel in Bulawayo.
Use the train schedule in ANNEXURE C to determine the duration (in hours)
they spent in Victoria Falls if they left Bulawayo on Monday and returned the
next day on Tuesday.

NOTE: In Victoria Falls they spent 40 minutes travelling to and from the
train station. 3)

4.1.4 Suggest TWO possible reasons why Peter decided to visit Victoria Falls by
train instead of using his car. “)

42  Peter decided to trade-in his Toyota Quantum to buy a new car. He was shocked by a
graph showing how his car depreciated over time.

Depreciation rate of the Quantum
30
25
20
15
10

% depreciation

2014 2015 2016
Year

4.2.1 Depreciation means the property loses its value over time. Explain why the
graph increases whereas the value of the car decreases. 2)

422 Use the graph to estimate the book value of Toyota Quantum in 2015 if it
costs R395 999 in 2014. (3)

[17]
TOTAL: 100
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